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(B HT7)

(3) REEA
1S RREME ©2 3.7

(R ELRR)
& Hififf A3 {5 =118 M (i) X 50m(fdF &) X 2+ 2 4 (it %) + 1,600 56 (B HIFE)
A 1,250 14 (100g) 1800 g F U7 VKRR (H %0
VAT 700 1 (100ml) 800ml R F L VI 14 EME O 38.7 H(EMMAR+RREME)
FEE 700 1 (500g) 2600g rizuav G
(B) 1 F24 /N a5 B fif 5 2
(RH7) (B H L) &5 i 2 {18 3™ o fi
JHES BER (g X mD) | B (F) | BRI | BERE | LAY R i HEF fif % i 44 [T
T H#EN 1,800 1,250 22,500 1,600 14.1 MEW#ER 2y 2 | 2000 H 13,000 %2 5 5,200
AR 800 700 5,600 1,600 3.5 GEREE 5m X 5m 5,200 X 2 2 5,200
GENEE| 2,600 700 3,640 1,600 2.3 E=—y—F
&t 14y i 03=19.8 BEAK 7k — 2 30m 3,500 % 2 3 2,333
1AM ERRE ©213 M (FEFRO1+ KR ERO2 1 E2IERO3) HEAT 7 X v 11l 2,200%2 3 1,467
WAKHY 2 —n 10 ¢ F 2,200 X 2 3 1,467
(D) 1 fi4 &M & &t 15,667
(1) FHrEmi (BHAH)
1R/ N R RS R ©9.8 =15,667 F (&S 1,600 # (BHHHE)

(R LS
OME 7725y rHl

o) §iffi 280 [
)T FHAEE 8 4

(B
S AMEEAER O1 35.0 =280 M (i) /8 4F (i FHAE L)
(2) 1584 PRIEEM

(R AL

AR 1.8m X 50m(0.05mm) X 2

o)t AR 2 4F

o) Hifi 118 F1(1.8m X 1.0m)

(F)1 #4 6 milax (8412
(FLHLRE)
A S Ty
=) iR 300 mi (1,600 AUV 3.3 mi 18 f)
A FAEE 5 4
=)3.3 mi Hfifits 4,400

(BH )
-1 U B W ExERNE ©50.0 H
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=1,333 F (md 4 {li#%) x 300 mi () + 5 F(MAFEE) +~ 1,600 F (B




(G)1 #2457 (8%

(R LRE)

A)1 A4 5@ 10,000 (8 H# 55 18)

7)10 7 — A YA BEEEC 20 46

)10 7 — A Y G IREE 5 R

(BT
- LY TEE S ©313 1

=10,000 H (1 H Y457 B E<4) + 8 K] x 5 R (10 7 — v 24 F7 @) IFfE))
+20 F(10 7 — A Y AR

() 10 7 — (20 46) 4 557 BRFENE . ARIERERRIL — B AR ERHERRR IC X o 72,

(H) 1 5524 4% 4 i 9% oo R A1 N 548
(R LRE)
B D 5% %M T 5,
(BT
1 AU REERREE ORI AE @36 M=726 FI(HFEE) X 5%

L FAREEERE 761.8 [1]

=0+®+0+0+E+®+G+8® (1 HY4% & 10,000 M oé
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4 HEER
(1) 571 3 4IRS ER 2 0 LSRR 1 %)

= ¥ ) B A+ A B T #®
5 BE HE T3 2R =k 7 RE W p il T4 AR D)3 T

& | IBASREXE () 43 1,224 1,075 1,250 1,183 975 881 928 992 925 1,000 972 953 953
M| IBEYRETHE (M) 42 1,257 1,100 1,125 1,173 975 968 970 988 925 1,000 978 925 925
ffl £ 8 E (%) |43/5M2] A26] A23 11.1 2.1 00 A89 A45 0.4 0.0 0.0 0.1 3.0 3.0
I EE (%) 43 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0

IBSRHYREXIE () 43 1,019 1,063 971 1,017 905 972 939 963 983 977 974 1,000 1,055 1,027
T ) 42 1,055 1,069 964 1,018 896 993 951 963 983 977 973 1,250 1,038 1,068
; £ 8 % (%) |$3/412 N34l A6 07|  All 100 A2l A0S 0.0 0.0 0.0 0.0  A200 17 A92

% B B EE 43 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0
2 MY REXIE (M) a3 1,036 1,038 971 1,015 863 863 972 972
| IBERYREZIE (M) %2 1,027 950 1,021 1,011 988 988 958 958
Rl F 8 (%) [$3/472 0.9 9.2 A 49 170 A127 A12.7 1.4 1.4
HIEREY: () 43 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0

23



(2) W4 SFEHEERERCH 2 )

RE NE ATHhE BT
TE B | BBH | T ZE =S g RE Lz i 19 F 213 45

K| STBEEIRHYESIILVE () 1,224 1,075 1,250f 1,183 975 881 928 992 925\ 1,000 972 953 953
B| L8X (HaiE3»EF9) (%) 3.0 1.3 2.6 2.3 0.0 0.5 02] A03 0.0 00] A0l 1.9 1.9
fE| STMEEIBEYHEENE (D) 1,262] 1,089 1,282 1210 975 885 930 989 925 1,000 970 971 971
X|SWAEE#TRS (B/H) (M) | 11,350] 9,800 11,540f 10,900  8,780] 7,970 8,380 8,900 8,330  9,000] 8,740 8,740 8,740

STBEEIRBEYRETIVE (M) 1,019] 1,063 971 1,017 905 972 939 963 983 977 974  1,000f  1,055] 1,027
e LEX (FRE3I»EFY) (%) 0.8 6.4 2.3 3.2 1.2 0.6 0.9 1.6 0.6 0.6 0.9 1.7 1.0 1.3
; SHMAEEIRRY#ERNE (F) 1,027] 1,131 993 1,050 916 977 950 978 989 983 980  1,017]  1,065] 1,040

SHASEHRTENE OKE) (M) 9,250] 10,180] 8940 9,460 8240 8800 8520 8800[ 8900] 8850 8850] 9,150] 9,580| 9,370
2 | SIBEEIREYREIIE (M) 1,036] 1,038 971 1,015 863 863 972 972
B ERX (FeE3HEF) (%) A23 6.2 1.6 18] A25 A25 1.1 1.1
M| SH4EEIRBEYH#EENE (D) 1,013] 1,101 986] 1,030 841 841 983 983
E|sMiEEETS (8m) (M) 9,120 9,910] 8880[ 9,300 7,570 7,570 8,840 8,840
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(3) A4 AR R (55 3 %)

% HE ATRE 2THR
T | B2 [zEw | vy | ze [ 2B | vy | R [ um [ mE | 7o | aw [ on | ¥

" 4 M 3 E & £ 8 20 10,000f  10,000f 10,000f 10,0004 ~ 7,800} 7,800} 7,800}  8,800f  8,800f  8800f 8800  9,900] 9,900 9,900
e M4 FE#E R 202 11,350  9,800f 11,540} 10,900} 8,780} 7,970}  8,380)  8900f  8330]  9,000f 8,740 8,740 8,740
(1) x LREGIEI4E3 5 £T49)(3) 10,300 10,130f 10,260} 10,230} 7,800} 7,840  7,820f  8,780]  8300f  &800]  8,790f  9,900f 10,090f 10,000
: (@ + @ + @ )=3 10,550f 9,980} 10,600} 10,380} 8,130} 7,870  8,000f  8830)  8640f 8870}  8,780]  9,900f  9,580] 9,550

4 M3 E & %8 201 9,000 9,000f  9,000f 9,000 7,500y 7,500p 7,500f &100f 8,100f  8100f  8,100f 8200  8,200f 8200
f 4 M4 FE KB E R 20 9,250 10,180f  8,940f 9,460} 8,240  8300f 8,520} 8300 8900] 8850 8,850f  9,150f 9,580 9,370
g (1) x ERE(IRIE3H FF19)(3) 9,070y 9,580} 9,210  9,290f  7,590f  7,540f 7,570}  8230f 8,150} 8150  8,180f 8340 8,280 8310

(@ + @ + 3 ) =3 9,110f  9,590f  9,050f  9,250f 7,780  7,950f 7,860} 8380 8,380} 8370] 8380] 8560F 8,690f 8,630
= 4 M3 E & £ 8 201 8,900] 8900F 8900f 8900f  7,500p 7,500  7,500p 7,600p 7,600  7,600f  7,600f 7,700} 7,700} 7,700
e M4 FEEE RN 20 9,120 9,910} &880} 9,300 7,570 7,570 8,840 8,840
R (1) x L= GIEI4E3 5 £TH9)(3) 8,700]  9,450p 9,040}  9,060f  7,310f 7,500} 7,410  7,600f  7,600f  7,600f  7,600f 7,700} 7,790} 7,750
. (@ + @ + @ )=3 8,910 94200 8940} 9,090f  7,460f 7,500}  7,490f  7,600f  7,600f  7,600f  7,600f 7,700} 8,110} 8,100
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